— AT

iti 0? éﬂm FE b/ A
"1 HH T EN2-11
T « Fax24-3131

-~ *—t % }-L} &)ﬁ fi‘J: I) -~ HEZ:‘/L;VTV\:/W.hita-k.org/keirin

Lo LA JE [ 755 75 0 55 B B 2t A 4

=RoOEB
NO FfEBK H=EZ XRE 25 F=6M

1 10:30~1200 | Z1~3 IPEMSEN BRASBZ | 3,000 | ZFEISEKC
2| B | 930~11:30 | H1~4 REH=E BRASBZ | 2,600 | HEOBTF
3 13:30~1530 | ZE1~4 HEY=E BRASBLZ | 30008 | =FR¥F
4 1000~1200 | %2+4 BEIEZAEF BRASBLZ | 1,5008 | &&MNF
5| W |[1300~1430| &H1~4 EEBH= RASBZL | 3,000A | tXPHE
6 1300~1500 | ZE1~3 RE BAASBZ | 20008 |KATEIF
7 9:30~11:30 | ZH1~3 =ORiRE=E RASBLZ | 3,000 | EOBF
8 | /K | 1000~1200| 24 FIEHE=E BALZE | £ETBRDH

9 1330~1500| %13 | BABDATYTIHE | RABL %‘O%'F‘:g’;“éé

10 1000~1200| £1~3 AlbzE (hFF) = BRABLZ | 2,000 |PHFEEF

11 10:00~12:00 F2 BLE (E/3K0T—D)) | BRALHE
N
12 13:30~1500| %2+4 EMENIHYT—=DIL | BRABL BHEF
. . PV eRAILISHIIR , 2,000™~
18| |1880~1880| ®1~4 | “gigrmsagomw | MARE | Gsoom | WEAF

14 10:00~12.00 | ZE1~3 BRNLIE (TIL—F) BEABL | 3,000 |I&FHHe

15 1000~1200| Z1~3 20-N\—8 (%) BABL

16| & | 1300~1530| F1~4 |3IBEFEEBHOEIHOH=E| RABRLZ | 2,000H | &EFHF

17 10:30~1200 | Z1~3 5<5<3IHA BRASBLZ | 2500 | #BARF
18 13:30~1530 | £H1~3 5<5<378B BRASBLZ | 2500 | #BARF
19 14:00~16:00| 5513 EEY-DI RASBY
20 13:30~1530| Z2+4 fnFRIHN AL | 2,000 | &ERIF
21 * 10:00~12:00 £4 BEXItb0OY RABYL

22 13:00~17:00| ZE1~4 HEHZ=E BABL r&5—83




$H04F4818
]

e R 0DIE

NO pElEDE =L PUES=T SEN B

22| B | 1980~21330| £2-4 EMIREEH= BABZ | 2,500M ZEREX

23 19:30~21:00| 513 |I730-FH1Y| BABL | 1,500H G-TEIEES
W

24| [1800~2030| FA1~a4 |TIZNTVILA| mABL | 3000M | HERARN

25 19.00~21:30 | F1~4 |AEE EIH) B=| RABX | 3,000H RIBIDHF
K

26 19:30~21:00 £2 faFE @ BE| HASBXZ | 1,500 BH=R

27 1800~21:00 | F1~3 | BFY—DILENR 8L 2,000M SFLLURA

2o| | [rozroo]| mive | PTELY | s | R

29| & | 2000~21:30 | H1~4 DEIEZRER | RABLX | 2,0008 HKEEH

30| * [ 19830~20:45| Z1~3 |YOGA (I #=E| FABL | 2,5008 BART

O3 @;%Egégnfmﬁgd)%E%E‘%ﬂé@%ﬁfﬁ%ﬁi’é%ﬁ LET,

[N
[gﬁﬂﬁfﬂv'@% S SRDEFEE]
sBEN XTI REET

[llb\

Tg&@ )%j%# l%\%ﬂ)\d)_t\ B,
°Eilhels

N IR Ont DOk

% %‘M t&%%éb‘aéﬂ?i?

e —E D & D R e

No H=E2 K& PR TeL




